

PROBLEM OF THE WEEK
Solution of Problem No. 3 (Fall 2008 Series)

Problem: Show that

$$n^k = \sum_{l=1}^k (-1)^{k-l} \binom{n}{l} \binom{n-1-l}{k-l} l^k, \quad \text{where}$$

n and k are positive integers and $n \geq k+1$.

Solution (by Elie Ghosn, Montreal, Quebec)

The Lagrange interpolating polynomial of degree $\leq k$ (k positive integer) that passes through the $(k+1)$ points $(l, l^k)_{l=0,1,\dots,k}$ is given by:

$$p(x) = \sum_{l=1}^k \pi_l(x) l^k \quad \text{where} \quad \pi_l(x) = \prod_{\substack{j=0 \\ j \neq l}}^k \frac{(x-j)}{(l-j)}$$

$p(x)$ is equal to $Q(x) = x^k$ since both are of degree $\leq k$ and $p(l) = Q(l)$ for $l = 0, \dots, k$. Therefore for $x = n \geq k+1$, n integer, we have:

$$n^k = \sum_{l=1}^k \left(\prod_{\substack{j=0 \\ j \neq l}}^k \frac{(n-j)}{(l-j)} \right) l^k$$

but

$$\prod_{\substack{j=0 \\ j \neq l}}^k (n-j) = \frac{\prod_{j=0}^k (n-j)}{n-l} = \frac{n!}{(n-k-1)!(n-l)} = \frac{n!}{(n-l)!} \cdot \frac{(n-l-1)!}{(n-k-1)!}$$

and

$$\prod_{\substack{j=0 \\ j \neq l \\ 1 \leq l \leq k}}^k (l-j) = \prod_{j=0}^{l-1} (l-j) \prod_{j=l+1}^k (l-j) = l! (-1)^{k-l} (k-l)!.$$

Therefore,

$$\begin{aligned} n^k &= \sum_{l=1}^k \frac{n!}{(n-l)!} \frac{(n-l-1)!}{(n-k-1)!} \frac{(-1)^{k-l}}{l!(k-l)!} l^k \\ &= \sum_{l=1}^k (-1)^{k-l} \binom{n}{l} \binom{n-1-l}{k-l} l^k. \end{aligned}$$

Others: Manuel Barbero (New York), Brian Bradie (Christopher Newport U. VA), Gerard D. Koffi & Swami Iyer (U. Massachusetts, Boston), Steven Landy (IUPUI Physics staff), Minghua Lin (Shaanxi Normal Univ., China), Sorin Rubinstein (TAU faculty, Israel), Peyman Tavallali (Grad. student, NTU, Singapore), Daniel Vacaru (Pitesti, Romania), Bill Wolber Jr. (ITaP)